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Sl Sl s Llexl) Cua dandl  gay¥) Les o ) elaaa A
Desertification which is the process, in which productive land changes into desert, is an
% 1
mcreasmgly serlous problem in over a hundred countries of the world. One b|II|on people out
goene Sl gl AW @bl sl (e La 4l

of a total world population of six billion, suffer from its effects.
2

aal e Gy b Al LU Gua aas Y Jle 5 i Ll oS
Desertification usually occurs in dry areas where there is no rain and where the m is

Gla o eda oS Ayl dadl) 1Al e G LY oS Y Lealaaind

harsh. In these places, the top layer of Is destroyed so that the land can no longer be used

Jode)y) dealadl g e clilgall a0 y ob ool gl gaaddey e palY) d
for growing crops or []g¥dlglel animals. This means that people who depend on the land for
<5

2 13zl) [REN) Jlay) é\ 0)4; ).\S\ dlnl_m ‘é] u}uuu 2\.\4.&.} UKS...J\ 28
food have to move to greener areas in order to SgNG. A proportion of the population may

Oty o JEy) S g5 a) L) Osise G s e
survive by moving, but others may die because of shortage of food and water.
4

e ae N e Akl @l ) (8 Fldl W jas Aalaal) adadl sl
Although natural changes i in the climate often start the process, the activity of human beings
s ulle JPCTEEN QU il oY Slla ot B e ol 4

are Often the real cause of desertification. Because there are growing numbers of people to

paladal (52 ) all 0 sy (M 11 & el penal )l il o Ayl maal e
feed, farmers tend to over SYINE their land, with the result that the soil becomes poor and
5

Aaiie po Os A 02 )l e =l oshsh sl 5 IR pdee I il e Glie ) 5 5 ,AY)
unproductive. Other farmers overgraze their land and this permanently kills of grass and other
6

bl alayu <l il del 30 GBI A ki JaE L
plants. In addition to the effects of farming, deforestation — the cutting down of trees — also
g ISt 4

Sgelelss the soil.

)\;u‘}” sale cl::sﬂ A d.ul )35\ 4:\::\‘)‘) L;AA“)\ uﬂ (SIS SHilia b Qg2
Trees are usually cut downto make more agriculture land, but once there are no longer
SaEy) el e dadd ey dae Y L o, ol s Lhdl e Caac

trees and plants on an area of land, there is nothing to stop the wind and rain from blowing

S Gisa Jua Ayl dadal 34 Dl Al eda dsan aey il Al cilils
or washing away the top layer of soil. Thewhlch this produces can travel long distances
%
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and affect the health of people living in cities thousands of kilometers away.
sl e Ladl) yauaill Sy sl Caglall
But this is not the end of the story. Desertification can create conditions which produce

d 5 R @ 5 W um o oE Lam e ey
strong winds and dangerous and this leads to even greater pressure on the Earth's

)ﬁ\ :\.A;é JJ\}A\ Ry c«LA]\
most pI’ECiOUS resource, water.

Yorg Byliad! Al

1 Quote the sentence which indicates that a sixth of the world’s population is affected by the
problem of desertification. il S 5 il allall Gl e Gl el ) Alead) i)
Overcultivating the land has two terrible effects on the soil. Write them down.

2 L) A e A A1 4l ol )3 ilall & sl

3 There are two characteristics of the dry areas where desertification appears. Write these two
characteristics down. oaibiadd) o3 e (il iS) jauaill jeday Cua Adlad) Blaliall ailiad cllla

4 | What does the underlined word " which'" refer to? 1A 1 Lad Lias Al Al i e )
According to the text, the writer states that the dust produced by desertification affect human

5 health. Explain this statement, suggesting three dust risks on human health.

halie G0 s yiia 3 )Ll 028 iy il daia o Sl il G sl Hlsdl Gl 7 e Sl (il L
ol daa e jlall
6 | What does the underlined word "'survive' means? ."3ball ad o 8y " L lgiag ) 4l s 13l

et dd | ($ 31500 | | et . Fib o bR G e i et}

The activities of human beings are often the real cause of desertification. Write down two of these

L | activities AL o5 (o 08 81 el il (555 Lo Ll ) A
5 Desertification has several effects on the environment. Write down two of these effects.
JU\}” oda (pa (i) i< Al LA.:: dac JU\ )Mﬁ“
3 Quote the sentence which indicates the number of people who suffer from desertification.
oaaill e G silay Gl Gl aae I 5uls Al dlead) )
4 Quote the sentence which indicates where desertification usually takes place.
Ble jaaaill & S (A jads Sl Alead) (e

According to the text, the writer thinks that the activity of human beings are often the real cause of
5 | desertification. Explain this statement, justifying your answer.
cﬂ.ulA\ \)).\A c'é‘)l_.uj\ ol C.AAJ Mﬂﬁsﬁ\ u_u.ud\ U}SJLAL\M.G )A’d\m‘ uhds:\azn_ﬁ&\ ‘ua.\u\ss‘,

According to the text, the writer thinks that over cultivating land has several effects on the soil.

6 || Explain this statement, justifying your answer.
a1 ya 3 slell s2a s :\J‘)ﬂ\‘;n sac ) agal a1 31 & yall s adiay (ST ¢ yaill lsd g

According to the text, the writer thinks that desertification leads to huge a pressure on water.

7 || Explain this statement, justifying your answer.
a1 ya 3 jlaall s2a D) cw\‘;cﬁjamg\ LSJ).\)M.\H Gb iKY agtay ¢ aill ad g
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According to the text. How does the writer define desertification?

8 ol sl Goye A aill
According to the text, the writer thinks that trees and plants have some benefits to the soil.
9 || Explain this statement, justifying your answer.
Slal ) yae B lall 38 mia g Ay il o ) sl (ang Lgpal Ll 5 5 SV L Kl aiiey ¢ aill
10 | What are the results of overgrazing lands? Sl el e ) il e L
Find a word in the paragraph which means / " galll A Al e Gyl
to stay alive survive | sball ad e iy
weather conditions in an area over a period of time climate zle
11 To put animal in a field so that they can eat the grass graze B,
what plants need to grow in soil L
To use land for growing crops cultivate gox
to destroy slowly erode Jsty
Dry powder made of very small pieces of earth dust ke
Fire that spreads very quickly wildfire Al & s
K ™ -
survive | to stay alive ball a8 e Ay
climate | weather conditions in an area over a period of time ¢l
graze To put animal in a field so that they can eat the grass ©
= soil what plants need to grow in 4 5
cultivate | To use land for growing crops gox
erode | to destroy slowly Jsty
dust Dry powder made of very small pieces of earth e
wildfire | Fire that spreads very quickly Alila @)
] A 150 ALiaY) b il Al cilalSl) (e Jah 1) g
What does the underline word " " refer to? " b Lghan Al dalSl) s il )
1| Which desertification
2 its desertification
3 who people
13 4 others population
5 their farmers
6 their farmers
7 which dust

40580 ALiay) & Ll AR L) clalSl) (he Jakd Ban)
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Critical thinking 38Ul .S

Desertification is a global and serious problem. So, we have to slow down the process of

desertification and speed up greening process. Think of this statement and, in two sentences,

write down your point of view.

Ofilen (53 jlall odgy )S8 juamdill dlae gty sl dlee (dadi Lile aag Gl 3 jplad g dalle S jaual)
ki dga S

iyl oll aliu syl

One billion people, out of a total world population of six billion, suffer from its effects.

1 a8 e 0 silay A (b A AU bl S & sena daal (e (gt i Hlla
2 | The soil becomes poor and unproductive. Anie g 93 i mual 4 il
3 | 1. Norain. 2. Climate is harsh. cila #la Y ol alaai)))
4 | The dust D)
Yes, because the dust which this process produces can travel long distances and affect the health
5 of people living in cities thousands of kilometers away.
Slo Ol (B G sdaan (i) Gl A e i 5 AL gla e ) JUEBY) 40 Aalaall o3 4aiB A jlall (Y caat
<l yia BLST (A amy
6 | to stay alive shall a8 e Ay
A graall Al YU lgladL
1. Farmers tend to over cultivate their land. PO T RUIRNl O O )l all )
1 | 2. Farmers overgraze their land. e )l Al J8 (e (ol )2 Al e 0 Y
3. Deforestation. Sl Ay Y
1. Desertification can create conditions which produce strong winds and dangerous wildfires.
9 2. Greater pressure on the Earth's most precious resource, water.
3k Alils (3 ja 5 4y 8 Laly ) i Al g hall g )
sl g g )V eSS e Al ol gl S e jS) darca Y
3 One billion people, out of a total world population of six billion, suffer from its effects.
a8 e 0 silag A 0k A3 AL A1) Q&tw@\w‘uﬁjw
4 Desertification usually occurs in dry areas where there is no rain and where the climate is harsh.
il AU S Gua g phaal) adely Cua Al Bhladl 4 jaaill Sass sl
Yes, because farmers tend to over cultivate their land, with the result that the soil becomes poor
and unproductive. Other farmers overgraze their land and this permanently kills the grass and other plants.
5 In addition to the effects of farming, deforestation — the cutting down of trees -also erodes the soil.
s 58 Ayl o) o Al 5 ol Y A e Ao I se 1 3al diey cpgeladal ang Gl (00 Bl e dlae) Y ca
ol s I Al s AV il g caial) ila JSEy Ji 138 5 gl ) e i) el (sl 03030 (5o ) e Ania
Al JSB 1 g Ll — a1 e — il A1) ) ) e 30
5 Yes, because the result that the soil becomes poor and unproductive.
Anie o3 8 mual 4y yill () (A il Y caad
Yes, because desertification can create conditions which produce strong winds and dangerous
7 wildfires and this leads to even greater pressure on the Earth’s most precious resource, water.
sle rall 33k ) ) (5050138 53 plad Alila (33 ja 5 4 8l Ll a8 ) o g pdall BlA o) 4iSay jaaatll Y caas
el LY cub)\J\ A)\jA QA:S\
8 Desertification which is the process, in which productive land changes into desert.
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Yes, because once there are no longer trees and plants on an area of land, there is nothing to
9 stop the wind and rain from blowing or washing away the top layer of soil.
Mu\w#\;@}\&j;wh}\]‘uﬁ cua_)Y\uA‘tALMGJQ k_luh.\}‘)l.a.m\JL\A J&.lej\.ﬂﬁ.\c ‘\..1\] s(uu
A (e Llall A3l Jy 5 )
10 | Kills the grass and other plants. AY) clilall g Cadiall ails JSy Jisy

In my point of view, I think this statement is completely true. We can slow down the process of
desertification by planting more trees near the margins of the desert and by raising awareness among
farmers about the importance of preserving our environment.

O Al Sl (e 2 3all Ao ) BBA e el Aglee fdadi LSy Lol damaa jlall oda (L die ] (g ki dga 5 e
Lty e ddailaall sl s cpe ) el G oo 5l 830 ) DA (e g el paaall 5 g0a
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ALk Olell A sadi Flall

Feeding chickens is destroying the climate

Whelsl) 3 O 0 T KO ) 15 (V. D S TGV R I PR T P T
The rainforest of the Amazon region of Brazil In South America covers five percent
e e Aaldl mhe a0 ghse J e JAY YL AL e Al gl il

of the world's land surface and is home to at least 30 percent of the world's animals and plants.

abidl & Lal phse J220,000 sesd e sV Ae Adiae Al 0l O edimy Bee
The area is also the home of 220,000 people from about 180 different tribes who live deep in
1

g_ﬂ_:\.zj\ c))au\ u\.a\.:d\ L@.us; ‘35 A.A.Q_A :C\:u uSS [SEEINTE} L@.A;; 9 L@.:LS}A

the forest. The rainforest itself i |s an important but, because of its size and location,
%

@ bal el Las ) B8 aSadll allad) Fha pasli Ng o palald  Ga sl

it also plays avital part in controlling the world’s climate. It does this by taking in carbon
2 AN 2 3

skl A6 5 3O sy

dioxide and releasing oxygen.

A Gl gy Aauld hlie (e REBNY! e A Lgaks J e S
Recently, however large areas of the Amazon rainforest have been cut down to make more

2l d e el (B AN Y gl B Jaw Je Ve v aage e gl A3 a jedi
land for farmers. In the last three years, for example, 70,000 square kilometers have been destroyed

K b Lo 1 L35 S el JS 4 A S e 2 Dkl Al Eg
this is the same as six football pitches every minute. Much of this destruction, which leave
&—— 4

oa)¥) s Bme g gl e
the land dry and dusty, is

UJQ)\‘)A&‘U}AMVQLM a.J.\A;“ H‘J\J\J @\)J D}A\dﬁ LE-‘” ?A M}J.Lcu A (.5)3‘ ;\AJ\ uA
Farmers use most of the new land to grow soya bens, WhICh they 3 to other parts of the
< 6
Aladl S daadiie S Gl gall Llaks ot e ol 4 A_J.U,d\ Ligys ol o e e
world to be used as animal food. Millions of chickens in western European countries are fed on
South American soya beans. Increasmgly, some soya beans are also being turned into food
BEPEYA Dlgiad el e Al Laalay) i Gl gl Jgb
for human [SeJgiipglatle]lg; many vegetarian foods are based on soya beans.
GA) Gl 5 yhaall 442 D3 o lsal Ol il serding ol y¥) aginile
Other areas of the rainforest are cleared by ranchers who use the land for their cattle, by
<—7 8
Otlaall 5l ¢ g Ll Wiy bl GLEaY) e Sy Ligakaiy 1 ) 0 (e Jai

loggers who sell the valuable tropical hardwood from the trees they cut down, or by oil
H
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Gyl cpl) Oy o) Vs edie Jaall o oda Ay 2l e sl ALad)
companies who are trying to find more oil. These activities help to improve the economy

w\ oS Ll s Jiisdl Ll L)
of the region, but at the expense of the future of the [s]lesJeEll environment.

o Ay i dagadll aulll i AR &l el 41 )
In addition to destroying ancient forests and changing the world’s climate, deforestation

Lo P sl e ol oS Osin e skl cilal) b
is having a YR Elgls effect on native populations who are dependent on the rainforest for
<— 12
&@zds f‘A 4.\};\:\;& e clae ) Q\}J‘ t_;‘ aﬂjd‘}“ K] LS}LAM

everything they need, from food and to medicines and shelter.
13

T4 doly drdgiog da yido dlisul

The rainforest itself is an important environment for many reasons, write down two of these
reasons? ¥ o3 (e i) ) el B Aaga Ay Lguadii 3 lalall Al

2 | Soya beans is used for two purposes. What are they? flaa Lo, da jal L saall J 58 addiy

Quote a sentence from the text indicates that cutting down trees has bad effects on the environment
3 || and this is against the law too.
Lyl o sl aa 138 5 Aagdall e o il 4pal HlaniW) adad o) ) 5 Gaill (e dlaadl gl

According to the text, the writer thinks that deforestation has a devastating effect on native
populations, Explain this statement, suggesting three ways how we can save forests.

" oS (3 yka O La yia 63 jlaad) 028 g g ¢Cplaall ISl o jene 5l Ll LI A ) Gl Gl aiay (il LG
¢ LR eai ) LilSaly

5 | According to the text, the writer thinks that destroying a large area of the Amazon rainforest is
illegal, Explain this statement, justifying your answer?

= a5 ball 03 ey 598 e g 3 laball LA (e 8 (Bl e gl SIS ing ¢l b g
What does the underline word " " refer t0? " e g Al A s e
1 who 220,000 people from about 180 different tribes
2 itself, its, it, it The rainforest
3 this controlling the world’s climate
4 which destruction
5 which soya bens
6 6 they farmers
7 who ranchers
8 their ranchers
9 who loggers
10 they loggers
11 who oil companies
12 who native populations
13 they natlve populatlons
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Find a word in the paragraph which means "' \1, "o "M palll A g Gy
I = = T
the surrounding air, water and land environment Al
against the law illegal S e
7 the eating or drinking of something” consumption Algin)
send something for sale in another country export Rl
affecting the whole world global Alle
very destructive devastating e
a piece of equipment for doing a particular job tool 31l
40 550 AL A il Ald) cilalS) (ya Jah Baa g
What does the underlined word " " mean? $1 Mkl lghad Al dalSl) et i
I e T
environment | the surrounding air, water and land Al
illegal against the law S e
8 consumption | the eating or drinking of something” gl
export send something for sale in another country il
global affecting the whole world selle
devastating very destructive e
tool a piece of equipment for doing a particular job 8l
40 sl Ay A elals A8l cilalsl) (e Jadh Baa) g
9 | Rainforests play a vital part in controlling the world’s climate in two ways. Write down these two
ala | way. O ol i S iy play allall Sl aSatll G 1) 93 3 plalall L
According to the text, the writer thinks that the rainforest plays a vital part in controlling the
10 [ world’s climate. Explain this statement, justifying your answer?
el ) e s )kl 028 iy allad) Fliey aSailly by goa |50 a5 plallall el ()l Gl ey ¢ paill 88
11 Some areas of the rainforest are cleared by three groups of people. Write down two of these
groups. e sanall 38 (o Gl SH Gl e ile sane S8 U8 e Ledll ) 435 jplaall G (lalie (any
12 1 Some areas of the rainforest are cleared for many reasons. Write down two of these reasons.
ala i) o3 (e il Sl 3s J) 355 udaall L) Gshalie jian
13 Native populations depent on the rainforest for everything they need. Write down two of these
needs. Sl a3 (pe i) iS) A galing o 20 IS A5 jhaladl LG e o sadiag alaal Gl
Large areas of the Amazon rainforest have been cut down, this destruction has bad negative
14 effects on the rainforest. Write down two of these bad effects.
238 (o il i) 5 lalal) el e A agalus U1 agal leal) 13a clgadad 155 plalall o 5 Sle) e (a5 (3lalia
Al Y
15 Quote a sentence from the text indicates the number of population of the rainforest of the

Amazon region. Al el o5 )Y dalaie 5 llall A S sae ) s ) Alea) gl

AJ,@“ e .\Jgo." o .\Jgo." e .1‘,90." e .\)go." o .\)go." o .\jgo." oo Ajgo." oee .1390." e .1390." oo A)go." oee .\Jgo." oee A)go."
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According to the text, the writer states that large areas of the Amazon rainforest have been cut

16 | down. Explain this statement, justifying your answer.
a1 e 65 sball oda g Lgadad 255 yhalall (5 S Al (g b S (3halia (ly CSH = jem ¢ aill WG

According to the text, the writer thinks that deportation of the Amazon rainforest helps to improve

the economy of the region. Explain this statement, justifying your answer.
3 badl 028 i s Adkaiall Slal (s o acliy 3 klall o5 LY Ale 8 lansV) adal by Gl aiay ¢ aill L6
sl

17

18 | Quote a sentence which indicates that there are many different groups of people live in the South
American rainforests.
ald A 513 phalal) cablal) ‘—‘)A@U)“-"—’..u*’u\ O Adlidal) Cle ganall (e aaal) lllaa o) _).\.;13‘5_"\3\3.&;]\ gt

Critical thinking sl sl

Human activities are the main reason for destroying the climate. Think of this statement and, in two

sentences, write down your point of view.
Ak dga g i) iy 55 bl odgn ,SE Sl ypenil ot SN Gl & i) ddads)

ZANPNL
1 | Because of its size and location. berd e s lpana e
2 | 1. Animals food. 2. Human consumption. sl DEsl Y bl gall alada )
. Much of this destruction, which leave the land dry and dusty, is illegal.
Ol Callae 58 3 yuas A8la LY @l 5 (Al ¢ laall 138 (pa S
Yes, because native populations depend on the rainforest for everything they need, from food and
tools to medicines and shelter.
i Sl Ag el ()l gal 5 alada (e 4l saling ¢ 0 IS (85 kbl A1 e () sading Galaall Gl (Y (rimia a2
1. Save it from wildfire. ALl 3l sall e leilas )
2. Stop cutting more trees. DY) ey all adad (e B gl Y
3. Save it from overgrazing. el el e lgilas ¥
- Yes, because much of this destruction leave the land dry and dusty.
Bt gddla (WS laall 1 e ST Y (T axd
o | 1- By taking in carbon dioxide. 038 sl (6 Galialial 8y 5k o )
2. Releasing oxygen S @3 Y

Yes, it plays a vital part in controlling the world’s climate. It does this by taking in carbon dioxide
10 || and releasing oxygen.

O (33Ul 5 ) 53 SN 2 B Galiaial (33 yha o 138 Jail allall Flie aSail) 81 sas | ) 50 aali Lgd) cans,
11 | 1.Byranchers 2. By loggers 3. By oil companies. il i€ ,3 ¥ cpblaall ¥ g il Glaal
1. Ranchers who use the land for their cattle.

2. By loggers who sell the valuable tropical hardwood from the trees they cut down.

3. By oil companies who are trying to find more oil.

L2 el sl a1 (g setiis Gl ) sl ) )

Loy Al LIV (e cpalll () s QAT ) gaa cpdlll Gutlaal) Y
Al e el 23 o J gl ) dadil) SIS 5 Y
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13

1. Food ek 2. Tools <l sl 3. Medicines 43 4. Shelter st

14

Leave the land dry and dusty. s g ddla V) &

15

The area is also the home of 220,000 people from about 180 different tribes who live deep in the
forest. Al Glee) B sdunn AR ALE VALY lsa e et Yoo vn o] g Liay) Adkaial)

16

Yes, because ranchers use the land for their cattle, loggers who sell the valuable tropical hardwood
from the trees they cut down and oil companies who are trying to find more oil.
Lliall Al 4 gV CLIAY) & geay cpdll Cdaal) cagaidl sal oaal Y1 () sadiinn ) sall ol Y (misia an
Al oy Gall alagl ¢ ) sl (Al dadil) IS 5 L gadally (Al SV (5

17

Yes, because ranchers use the land for their cattle, loggers who sell the valuable tropical
hardwood from the trees they cut down and oil companies who are trying to find more oil.
Aalall Aapall) A0 Y] QLAY & s ) utlaall cagudl sl aal SV () seddiuny 5 sall sl Y amia and
il (e el alagl (sl slagy (pall Jadil) S 55 Ll gedady (Al LY (e

18

In my point of view, | think this statement is completely true. Pollution which is produced by factories
is the main cause of the destruction of the climate and clearing forests by humans beings is a

destruction to the climate too.
Ll A1) 5 Ll jlead a5l sl 58 ailiaal) aniin oAl gl Lol dgagana 5 el a2a ()l e ) ¢ 5kl dga s (g

The area is also the home of 220,000 people from about 180 different tribes who live deep in the
forest. Al lee) (8 ¢ pdiam AR ALE VAL s e dand Yoo v o] Gl ge Liay) Adkaiall

Ll Jler g S5l U8 (e Liadl
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Explanations and Results (i s <l )

1 | You can identify your bags. Make sure your bags are marked. (so that)
People can improve their life style. Many changes have taken place lately.
2 in order not to, with the result that
3 | studied hard so that I could get full mark.
| studies hardinorderto ..............c.ooeiiiiiniini.ni.

Explanation words and
phrases

Sentence form and its location

il ioty L) (lexd 3a 5 Alanl JS3)
Because @ @ | e weeenn. DECAUSE (S + V) e rreeeeeeae
(oY) Because (S+V) ........... e e
with the result that ; . il &
(Gadadlly | =% ., with the result that (S +V) ... ™~ ...
@ Eil;?e(‘iid‘) ............................. cause of (noun phrase) .....ccceeevveevceeeennens
leai;?é!j? O lead t0 (noun phrase ) .....ccccoeeveeevvevervrveenne.
sothat | e SO that (S+can+ V1) e
() e () e so that (S+could + V1) oo
to
A — O (VL) oo
I(r:;)r??;:? .......................................... inorder t0 (V1) .oooeeeeeveveveeeeeeene,
[ or((\jye;z)ot O inorder NOt tO (V1).ooooveveieeeeeereeieeeeeean

.(J;LJ);cB\J\ ddn ce;a\)uws&c)mwuﬁwésé}ﬁ;ﬂy% ;3,3“\3.\@4.)& (NOUn phrase)

- The beautiful girl. - The red car.

- The big car on the street.

Farmers need more land . They can grow more Soya beans.
.can / could dles Lgati Cum dlaall lausy A Ladd (50 that) g s G WS

Farmers need more land so that they can grow more Soya beans.

(so that)

can dloa
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It covers such a large area . The Amazon rainforest has an important effect on the climate of the world. (because)
(because) plasiuly cpilead) Jay o paill 24 8 clia callay

Al dles g8t g ol dlany Lea st (pillal WIS 8 oS Lgdans g 8 5l Alaall Bl 3Ll (Because) g o WS 1
i Alea 3 WaNt RS s s o) il JA e ) Alea e Jiias 2

: Jadl
The Amazon rainforest has an important effect on the climate of the world because it covers such a large area.
131 Ja

Because it covers such a large area , the Amazon rainforest has an important effect on the climate of the world.

Lads dladll angg dloadl dylay gadadd JoUl yall yaay .. Lo dolp dlos Iy yaduacia 99 yall yscasi dloc lkand

The soil is now dry and dusty . Large areas of forest have been cut down. (with the result that)

crall Alans LB  Aaiil) Ales Leai Cus Aleal) Jan g 3 a8 (With the result that) g Gue WS 1
Alald o with the result that Gas .2

Large areas of forest have been cut down , with the result that the soil is now dry and dusty.

Traffic accidents. Drinking and driving are the major . (cause of)
AganY) dleall Leait dum dleall Loy 3 1ai (cause Of) g si o WS

Drinking and driving are the major cause of traffic accidents.

¥

(leadto/ledto) e @b (cause of) e Gubi L

Sell the wood . Loggers cut down trees . (to)
a3 Elaa) Lot Cm Alasl) oy B L (£0) a5 o LS

Loggers cut down trees to sell the wood.

oLy fayi gall dlooll Jaity fays gaill dleall
(inorderto/inordernotto) e ki (t0) e bk
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1 | The rainforest has been cut down. Make more farmland. (to)
o | Make more farmland. The rainforest has been cut down. (to)
3 [ They can grow more Soya beans. Farmers need more land . (so that)
Fatima did not go to school yesterday . She was feeling ill. (because)
4 | 1.
2.
5 Drinking and driving is one of the most common. Traffic accidents. (cause of)
6 Traffic accidents. Drinking and driving is one of the most common. (cause of)
7 | He came here. Study English. (to)
8 Study English. He came here. (to)
Omer’s letter was difficult to read . He had written it very quickly. (because)
9 1.
2.
10 People write things in their diaries. Forget important things. (in order not to)
11 | Forget important things. People write things in their diaries. (in order not to)
Scientists are trying to produce new fuels . People can continue to use their cars without damaging
12 | the environment. (so that)
13 | went to the post office . Buy stamps. (to)
14 People are cutting down forests . Have more land for growing food. (in order to)
15 Have more land for growing food. People are cutting down forests. (in order to)
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~N

v

16

In the future, sea levels will rise . The polar ice is melting. (because)
1.
2.

17

Nada went to the airport. Meet her brother Khaleel. (to)

18

Meet her brother Khaleel. Nada went to the airport. (to)

19

Nada trains hard. She can get the prize. (so that)

20

She can get the prize. Nada trains hard. (so that)

21

She wants to get the prize. Nada trains hard (because)

22

Nada trains hard. She wants to get the prize. (because)
1.
2.

23

| went to the mall. Buy shoes. (in order to)

24

Be late. Nada took a taxi.  (in order not to)

25

We're saving our money. We can go travelling.  (so that)

26

Nada studied hard . She wanted to get full mark. (because)
1.
2.

27

They can keep in touch with their families. Students use mobile phones. (so that)

28

Survive. Some people move to greener areas. (in order to)

29

There is a growing number of people to feed. Farmers tend to overcultivate their land.
1.
2.

(because)
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30

Trees are usually cut down. Make more agricultural lands. (to)

daguidiall dygall (Y41£) dyl;39]1 dliul

1 You can identify your bags . Make sure your bags are marked. (so that)
You get the opportunity to meet students from other courses of study . Joining a university club is
a good idea. (because)

5 1.
2.

(baosi Jisal)  dyl54]l dlisul o yillagi

The top layer of soil is destroyed. The land can no longer be used for growing crops.

in order not to, so that

Aleall Jine Cavs (3 gaiall 8 (450 ga gall Gl san) L) Y gl elie allay (1 Bl Jaailly 4l Jaadll 138 )
OB Gad g lamall Jaadly 3 Al slaY) day y o5 Y

Aleall (agd) Ll Slle Caraa o)) Y1 gaa) sl e dlaall (aS S elac by 8 Y

so that iad can / could (e Adaadl saal) Cigial 131 -

cause of / leadto  _isd dulad (5 JAY) g dren) dlas Jaall san) S 13 -

because sl (nileall as) A want S dga g ol (4 dsrde + J2d + Jeld) e ouileal) WIS & gl 13 -
to/inorderto /inorder notto i) Jady (pileall aal sl 131 -

The top layer of soil is destroyed. The land can no longer be used for growing crops.
- //v
in or%t to, so that

The top layer of soil is destroyed so that the land can no longer be used for growing crops.
Jaall gaal L can s sl Jeall e aa (380 55 WY (SO that) Juidl o5 2 BaY

Desertification. The activities of human beings are often the real.

in OW to, cause of

The activities of human beings are often the real cause of desertification.

Aaled 5 530 dpan) Alaa 3 ga gy Jaadl Jire e (381 53 WY (cause Of ) sl i : BaY

Farmers tend to overcultivate their land. The soil becomes poor and unproductive.

with the result that cguse/

Farmers tend to overcultivate their land , with the result that the soil becomes poor and unproductive.
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It covers such a large area. The Amazon rainforest has an important effect on the climate of the world.

with the result that because

4 | 1

2.

The soil is now dry and dusty. Large areas of forest have been cut down.
5) to with the result that

The rainforest had been cut down. Make more farmland. to with the result
6

Farmers need more land. They can grow more soya beans. In order to so that
7

Sell the wood. Loggers cut down trees. In order to so that
8

Fatima did not go to school yesterday . She was feeling ill. because 5o that
9 |1

2.

Buy stamps. | went to the post office. because o
10
1 Forget important things. People write things in their diaries. i order (o in order not to
ala

Omer’s letter was difficult to read. He had written it very quickly. because so that
12 1

2.

The polar ice is melting. In the future, sea levels will rise. lead to because

13
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1.
14

2.

People are cutting down forests . Have more land for growing food. lead to in order to
15

16 || Use up the world's resources. Many people recycle their rubbish. inorderto_in order not to

ala
Scientists are trying to produce new fuels. People can continue to use their cars without damaging
171 the environment.
because so that
ala
Some people are moving out of their homes on the coast. Escape floods.
18 inorderto  in order not to
Al

19 | Cause more global warming. We should stop burning coal and oil. o in order not to

Al

Scientists are worried about climate change. It is a threat to life on Earth.
20 with the result that because
ala

Ahmad came to study in our country so. He could get a good education.
21 because so that
- Poverty. Unemployment is a major. with the result that cause of

dxigall dygall ol dyaalll 315001 dlisul

People can improve their life style . Many changes have taken place lately.
1 in order not to with the result that

The manuscript was full of errors. The publisher rejected the author's latest work.

2 because in order not to
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(because) ' (sothat) ¢ Jisil

(he, sheit) 2 s delileannldl wantsto - can  Jyiw
(I, you, we, they) aes Jeli Leiw 13) wantto =  can
R oS ol guibi S § 2ol jiedeldll e Hlaill =k wanted to = could

(so that) ) (because) cs Jisail

can = want to 5! wants to Jasies
R Won dloadd) (ol Jiwl § could = wanted

Nada trains hard because she wants to get the prize.

(in order to) Y (so that) (s Jusail

so that gl (1A (can / could) aiy L JS J

I went to the mall so that | could buy shoes.

(so that) ) (in order to) (s Jissill

Jinorder to 4lea Jeld so that 2 i 1

gobas inorderto dea gy S delill a2y can g, 2
weale dlaall ey GBI could

can/could = inorderto i Al aleall JalS J3u 3

I went to the mall in order to buy shoes.
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sl il gunysl

1. We're saving our money so that we can go travelling.
We're saving our MONEY DECAUSE .......ouvinriirt ittt ee et e e e

2. We're saving our money so that we can go travelling.
We're saving our money in Order t0 ..........ccooveiiiiniit e

3. Nada bought a car so that she could go to the work.
Nada bought a car because ...........oooviiiiiiii

4. Nada studied hard because she wanted to get full mark.
Nada studied hard SO that .............cooiiii i,

o1

. Nada studies hard because she wants to get full mark.
Nada studies hard SO that ............coiiiiii e

6. |Isleep early in order to work hard tomorrow.
Isleepearly SOthat ........oooiniiiii e

7. |sleep early in order to work hard tomorrow.
I sleep €arly DECAUSE .........cooniiii i

8. [Islept early in order to work hard that next day.
Isleptearly SOthat ... ...

9. Nada took a computer course in order to get promoted.
Nada took a computer course sothat ..............ocoiiiiiiii i

10. Nada takes a computer course in order to get promoted.
Nada tokes a computer course SO that ..............cooiiiiiiiiiiii e

11. He spoke slowly so that they could write everything down
He spoke slowly iInorderto ..........c.ooiiiieiiiiii e

12. 1 am saving money so that | can buy a new car.
I am saving MoNeY INOFder 10 .......ooviuiieiitiit e,

13. | waited for an hour so that | could meet her.
I waited for an hour in OFAEI 0 . ... .ot e,

14. 1 studied hard so that I could get full mark.
Fstudies Nard iN OFABI 0 .. ...ttt e,

15. We take blankets so that we can keep warm.
We take blankets in Order t0 ..........oviinii e
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diglaall il guisnll dlisul

1. Students use mobile phones so that they can keep in touch with their families. (2013)
Students use mobile phones N orderto ..............oooveiiiiiiiiiiiiiiieene,

2. Ahmad came to study in our country so that he could get a good education. (2013)
Ahmad came to study in our country inorderto ............ccccooeiiiiiiiiin..

A)go." . .\39@" oo -\)90-" e .\Jgo." e .\)90." o .\)90." o -‘390-" oo Ajgo." oee Ajgo." o Ajgo." oo .\)90." eee .\Jgo."

The doctor is not always "SHAFI"
The weather is not always "SAFI"
The love is not always "KAFI"
The money is always "MAFI"

But your love always make me "DAFI"
And makes me run "HAFI"
Please don't ask me "SHOFI MAFI"
Because nobody for promise "WAFI"

Please darling don't be always "JAF”

AJ,@“ e .\Jgo." o .\Jgo." e .1‘,90." e .\)go." o .\)go." o .\jgo." oo Ajgo." oee .1390." e .1390." oo A)go." oee .\Jgo."




